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÷:÷:÷÷÷*-- Questions are very similar
do those done

HW3#3_ :

20% migrate south
10% need 800 cal/day I migrate

south

M = migrate south

C = need to consume atleast 800cal /day to survive .

PlM=% ,
P( c) =? PIMC) - Fo

Prob .

bird does not need 800cal given that they migrate?

PKYM) - 1- PKIM)=1 - PELT -- 1- ¥I=É

PT.IE/isaMbkh-ys-/P(A1B)-PlAB)--it satisfies P(B)
OEPI.IE) £1 , PLATE)= 1- PIAIE)

.
. . .
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A-1 ✗ = # years
that tree lives
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-11-2 Hazerdrate:
✗711-1=1%+7--1 ⇒ .

If 714--61-+4 is the Hazard note of ✗ ,

find P /✗ < E) =F(1) F'61=86)



→ Knowing Alt) implies knowing Flt) .
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